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UART : Use Serial library A0t
UART, Blue Tootk
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Serial.available()
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Serial.read();
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Serial.readbytes(buffer, length),

Buffer: =4Il HIO|EEE MY HI O|E
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Serial.printin(val),
Azlg 84 ZEE &3l ASCII 2Xt€ HIO|HE =35t= &0|Ct. o & =™
Serial.print S415t= Z0| OtH)

50); -> ASCIlI Xt "50"8 & AISICE (€ 502
Serial.print("Hello world”) -> ASCII 2Xt€ "hello world"E& &
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Serial write(val),

SiLtC| HIO|EE &£ AISHCE M2tAM I2tHHE valofs= 0 ~ 2559 ==X}7} &0{7}0F StC}.
ASCII EX1EE2 EUW& print)t= E2| &K O|Fl Ho|HE S4BT

void serialEvent() { F&1, Z&2.. }
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void setup() {
Serial.begin(9600);

void loop() {
int frontSensor0 = analogRead(A0);
int frontSensorl = analogRead(Al);
int frontSensor2 = analogRead(A2);

if(frontSensor0 < 100) { Serial.printIn("found on the left"); }
if(frontSensorl < 100) { Serial.printIn(“found on the center"); }
if(frontSensor2 < 100) { Serial.printIn("found ont the right"); }
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int recvBytes;
int num;
char inChar[0];

void setup() {
pinMode(11, OUTPUT);
pinMode(12, OUTPUT
pinMode(13, OUTPUT
pinMode(14, OUTPUT
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pinMode(15, OUTPUT);

pinMode(16, OUTPUT);

pinMode(17, OUTPUT);

pinMode(18, OUTPUT);

Serial.begin(9600);

Serial.printIn("Ready... ");

inChar[0] = '0"; // NEEHYe =z x7|3}

void loop() {
if(recvBytes) // M2 S0{2 o7 ATt LED Z% 0|7
{
for(int j = 0; j < num; j++)
{

digitalWrite(11, HIGH); // 01X Ao Z 7ol 7|

digitalWrite(12, HIGH);

digitalWrite(13, HIGH);

digitalWrite(14, HIGH);
digitalWrite(15, HIGH);
digitalWrite(16, HIGH);
digitalWrite(17, HIGH);
digitalWrite(18, HIGH);
delay(100);
digitalWrite(11, LOW);
digitalWrite(12, LOW);
digitalWrite(13, LOW);
digitalWrite(14, LOW);
digitalWrite(15, LOW);
digitalWrite(16, LOW);
digitalWrite(17, LOW);
digitalWrite(18, LOW)
delay(100);
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void serialEvent() // HIO|E{7} =4l
{

recvBytes = Serial.available(); // =AE HO|HO J+E AT
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if(recvBytes)
{

inChar[0] = (char)Serial.read(); // S=AE HOIHE Ji2HE g Haso HE
num = atoi(inChar); /) e FPEIEHE M2 Halst
}
}
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